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Question Paper Specific Instructions 

Please read each of the following instructions carefitlly before attempting questions: 

There are EIGHT questions divided in two SECTIONS and printed both in HINDI and in 
ENGLISH. 

Candidate has to attempt FIVE questions in all. 

Questions no. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted 
choosing at least ONE from each section. 

The number of marks carried by a question/ part is indicated against it. 

Answers must be written in the medium authorized in the Admission Certificate which must be 
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No 
marks will be given for answers written in a medium other than the authorized one . 

. Word limit in questions, wherever specified, should be adhered to. 
Attempts of questions shall be counted in chronological order. Unless struck off, attempt of a 
question shall be counted even if attempted partly. Any page or portion of the page left blank in the 
answer book must be clearly struck off. 
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SECTION A 

QI. Ptklfftf©a w.11 ~ ~ ~' ~ ~ 150 ~ ~ ~ ;rm : 
(a) q1(qf.t:Cf> ffief> Sl ~l l 'EH ~ '~ ~= mW:i BlOl f'!"ll - >Mrefi ~ ~ ~ ~ 
~ Sl~ll("H ~ ~ ~ tft ~ ~ fcn \JICll <Sl~g) if> ~ N(f{f ~ ~ 
- fcf>B >fCfiR ~~~m m"? 

(b) 'zjJid"ikliCf> 31a:Tliffi' if> ru~H'I ~ ~ ~-3Wfll ~ ~ ~ ~ I ~ ~ ~ 
~ 3"!fllf~fh1 ~ ITTm ~ "Cftt~ cf))fJi c; I 

(c) "a~eflta • >1~ 11B "i .q, ~-~ ~ ~ Bitfl!'l 13"!1 ~ "BliltTH RCf>rMar t 
~ ~ BJ:Jfl!'ll~ "Cf))~~~~~ ... 1" flcqon 4llNiQ\ 1 

(d) ;rcf-3~1{C!leJ CfiR1 it, ~ Sl~llfl"i 34jaf{Cf> \JICl liSl~~ if> 34Cf>{Ufl ~ "Cf>li ~ ~ 
'Slci1~~~ it> 34Cf>{on ~ ~ PtzjGia ~ ~ 1 ("lfcifd 1{ ~ cf))N1Q\ 1 

(e) ~ fcRrn: ~ ~ <:f))fJic; fcn '~ Cf>1 Cf>14q1ff1Cf>r ~ ~ l:fffi it fCla~a1 
>rm ~ ~ fcn ~ 3'trH'I 14 r<?.41 '!l I ci'4 3fR: ~ «I I~ IM 41 Cfil >fTH t fCli! ti!Cf>{ 

&f ~~~\ill 3"tel r<?.41'Qlfl~l ~ ~ 1:1\ FtJRl41 ~ ~ 1" 

Answer the following questions in not more than 150 words each : 10x5=50 

(a) How did traditional public administration "resolve a fundamentally 
irresolvable problem - creating an administration strong enough to be 
effective but not so strong enough to endanger accountability" ? 

(b) The theory of 'organizational incompetence' has two separate and 
distinct faces. Examine Chris Argyris' views on this. 

(c) "In the globalized public administration, hierarchy creates more ethical 
problems than it solves .... "·Comment. 

(d) Public Administration in the neo-liberal era is governed less by 
instruments of internal accountability and more by those of external 

10 

10 

10 

accountability. Elaborate. 10 

(e) Discuss the view that "tribunals should have the same degree of 

independence from the executive as that enjoyed by the Supreme Court 
and the High Courts, especially for those tribunals that look over the 
functions of High Courts." 
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Q2. (a) '';rcf ~ ~ ~ -;:r m \ill~Oci ffi-m ~ ~ ~ ~ "{~ WT t ~ ~ 
~ 3"!1<:""Th1cnl ~ Fra13TI ~ ~~WT~ 1" ~ eMN!~ I 

(b) "tflRtcti ~ CRT rn~l$'"1 Cfl8 -ij, ~ ~ ~ ~ ~ ~ ~' 3fu: 
~: ~ >rg& fci=qRoft;q ¢lIB ~ I" 
'~ "T'T'31>~ 4- . Fil ~ . ~ ~ " ~·10"1 ~Q.t1ll'l~I q, ~ ~ ffl"ll Cfi &jq~l{I CRT~ (Bf Ql\11 ~ I 

~ en~ Cf)T fci ~JI t:il 01 ch) Ni QI 3fu: :si ~11 <EFr ffl0&H1 ~ fu"Q; ~ 311=R-~ aq P 1"11 

~ 41'1C!;l'"ll cor ~iCfl'"l ~ I 
(a) "New Public Management may have neither been the saviour its 

enthusiasts promised nor the devil its critics worried it would be." 
Discuss. 25 

(b) "The design of the physical structure, the anatomy of the organization 
came first, and was indeed the principal consideration." 
"An organization is a system of interrelated social behaviours of 
participants." 
Analyse these statements and evaluate the contributions of the 
respective approaches to administration theory. 25 

Q3. (a) ''Rur.T 'fi,1a;fi' ~ ~ ~ ~ t ~ ~ fi 41d"ll ~ ~ ~ ~ -ij &!Clt;R 

en@ ~ ~' ~ ~ ~ ~ 1" ~ ~ ~ ct>4i11t1 ~ ~ ~ 
;8J1ao:t1i:-iict> ~ ~ ~ ~ ~ "Cfl1-~ ~ Bl$4'"1 ~ "5fCf>R qft:Cfif;qa 

~~? 

Cb) '~ Btcf\JIR<:f> ~ ~ ~ ~ Cfl8 ~ ~' ~-fmr fiJ1ari 1rt:1<:f> 

~~ ~ AAtIBT ef)T $Rllil~ ~ "\JIT ~ ~ 1'' ~ ~ ~ ~ -ij 
fk.<;H"I cil" ~ ~ ~ ~llf~l"i Cfi1 ~ chlNlO: I 

(c) fil ld"ilrJ:JCfl ~ ~ ~ ~ m~ ~ 3fu: q:;q:q1ft:4l ~ 3qi{5@) )ltrJq ~ 
~ ~ l1Tcan:J ~' 3ij'Ef{Uf ~ "\JIT ~ ii..fl~~IRCfl ~ ef;'r CfflT ~ ~ ~? 

(a) "Decisions are not made by 'organizations', but by 'human beings' 
behaving as members of organizations." How do Bernard and Simon 
conceptualize the relation between the decisions of the individual 
employee and the organizational authority ? 20 

(b) "A variety of different organizational arrangements can be used to 
provide different public goods and services." Explain the theory 
underlying this proposition and its potential contribution. 15 

(c) What is the nature of psychological contract pursued by organizational 
management through authority and the employees through exertion of 
upward influence ? 15 
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· Q4. (a) '8<'i;l"'lk'"lcn ffi~H1, cn41~~1 ~ it, ~imrr, ~ 3:fu: 3fl1r~dl ~ Cfft1mch'I 

m~id! -ij ~ ~ I ~ 41~0: I 

(b) ''ffich -;ftfu- CfiT ir_0lli6fl"l CfiG ~ ~ 3if~ ~Cf)c--q;i 1 ~ ~ it ctlcn~a ~ tft 
3mfu~ I"~~ I 

(a) Structural theory is, by and large, grounded in classical principles of 
efficiency, effectiveness and productivity. Explain. 25 

(b) "Public interest is still inadequate as a ground concept to evaluate public 
policy." Discuss. 25 
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~B 

SECTIONB 

Q5. f2iqR1fula ~ ~ ~ ~' ~ ~ 150 ~1~ ~ 311~ ;r -ITT : 

(a) ''g ("HlrlOICh ~ Sl~l l ~'"I 311'~ ~ mot;Hi ~ m ~ "R:ffi ~ ~ I" 

Bfci fdR ~ ch'lf\liQ> I 

(b) ' \ iJld"l lrJ:ICf) fet ~c3ti o1 it, ~ ~ fWT Cf>@ ;:r CfiITT ~ ~ it 31T ~ ~ I" 
(J fl (>':s+i:) l ~ ~ <ilNiq; I 

(c) st~llflRCfi ~ ~ cp:rr mm~ ? ~ ~ Sl!?llfH it~~ fet<:f>ma m 
~ ~ ? ~Rle;1ruct> 3~ 1 ~{o~ ~ ~ ~ m2T ~ 30lj@;<!:l 1 :Cfll 'l"INWR ~ 
cfilMQ> I 

(d) 3'.ff~ Rl<=t>lfl ~Aa ~it ~-mctiR qf{4l\1Hlm ~ ("llfifH11 ~ ~ f.:n:;r m ~ 
~ i I ~ q:;r 3'11 Cf)("H <fl RI c; I 

(e) 3il'!ll\il-il Stl!HJ•H ~ ~ ~-31Ttrrf«r ~ ~ ~ ~ ™l<i.._, <il'Jltl4 &n"l(ff 

~ 31&1lRIT ~ ~--B ~ ~ ~ Cfi\ ~ ~ ? 

Answer the following questions in not more than 150 words each : 10x5=50 

(a) "Comparative Public Administration both resembles and differs from 
modern organization theory." Elaborate. 10 

(b) "In organizational analysis there is always gender around." (Gouldner). 
Argue. 10 

(c) What is administrative elitism ? How does it evolve in public 
administration ? Elaborate your response with reference to historical 
examples. 10 

(d) The success rate of e-government projects in most developing countries 
is stated to be rather low. Assess the reason. 10 

(e) What new models of budgetary capacity and incapacity have emerged 
after the decline of Planning Programming Budgeting and Zero-based 
Budgeting ? 10 

Q6. (a) '~ ~ ~ \J1l- ffi7T ~ ~ fi'Cfll ~fi14 1~ ~ t ~ 1wk~r"t 
~ ~ ~ l11f%~ O"'llCll'.)lf{Cfi U\l141fa ~' ;i- fct> WT&f ~ ~~ I" 

'~ st~<'Hct>1tl ~ 3"1j4i1:1Cf> ~ ~ .q, ~ ""'ICf>aSl ~ 3"1jfStit!Hr4Cf> 

mctiR ~ q:;r fcict>m ~ ~ ~, ~ ~ 3lR ~ •w1QCf> m ~ 
3"11Cl!?'!1Cf>cll ~ ~ 1" 

~ ~ ~ ~ ~ ~ fq~ ~ Cl lfdfc!Cfia13TI col' "3\llffi ~ I 
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(b) "~~ii, ~' ~ ~ <-mfl;:f) 3'!~~~1 ~~~~AA~ 
~ ~ ~' ~ Nwn-:m ~ ~IC!'{~ fi~401 ~ -ij ~ l" (~ ~) I~ 
si~m1Pl<:t> ~ (fif't'>Ri;ioil) cfiT fci~1za1-:m if>~ Cf>l;f_-?f ~ ~&flJT ~? 

(c) ''felPlll 1itct> ~ ~ 7Slit -ij ~ ~, ~ ~ ~ ii ¢fIB ~ ~ 1" ~ ~~ q:)f 

~-f.:Nft ~wft~1P:4i ~ ~ ii Rl~<?lt5!01 chlMQ\ 3fu: R!Pr<ii:t'"I ~ men cfiT q~i:il"l 

efi1MV: I 

(a) "For those who use the euphemism of 'shared power' for participation, 
the appropriate literature for guidance is practical politics, not 
organization and management." 

"Strong state and strong civil society are the need to develop both 
participatory democracy and responsive government as mutually 
reinforcing and supportive." 

Bring out the myths and realities associated with public participation. 20 

(b) " .... in most cases .. .. newly independent states, of the nations of Africa, 
Asia and Latin America, despite their differences .... are in transition." 
(Ferrel Heady). What common features are indicative of characteristics 
of their administrative patterns (cultures)? 15 

(c) "To talk about the regulatory framework is to talk about governance." 
Analyse the statement in the context of public-private partnerships and 
identify the elements of regulation. 15 

Q7. (a) "31If~ "§t1R, ~ ~ ~ 3rcr;ft um ~ ~ ~ ~ ~ ~ ii 3'1R~@<:t> ~ ~ 
m~, ~ ~ ~ ~ ~ 1" ~ 11 31If~ "§mU ~ q:;14r;:q401~~11 ~ 
Cf)~~~ 4>1MQ\ I 

(b) '';frfu ~ e(;l firci;:i1 ~ 3'!1<:1!\31011 ~ ~ 3il<:!l(4Ch ~ ~ ~ c#iT Tf$ 
~ 1" 

''acf; ~ ~ -4, ~ ~ ;rq_3~1(Cll~ {1~4dl, ~ fch ~ Cf>1 ~ qf{qtl'i 

~ C1l<:f>cti81co 3~RC!I~ ~ ~ ~ 3ilUNct ~ ~ t ~ ~ -4 ~ ~ 1" 

"f-1 G.) co2f.TI q:>f fcl~cllSIOI 4>1Nl~ I 

(c) ~ ~ ii, ftrn-fim ~, ~ v,ci wrr ~ Chl4Chafan t ~, 
~ 3i("l4colcll'"I "Z4~ ~ c{ldco1cll01 ~ 3'11C4~4coa13'!1 ~ ~' ~ cfa 
~ ~llfil(i'l ~ ~ I ~ 4i'lMQ\ I 
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(a) "Economic reforms are a work in progress with the state reluctant to 
fully relinquish its reins." Discuss the statement with regard to 
implementation of economic reforms in India. 15 

(b) "The policy process was not structured in the way required by 
bureaucratic planning." 
"Arguably, incrementalism now stands most in contrast to neo-liberal 
nationality that impose markets against both gradual change and 
democratic liberalism." 
Analyse these two statements. 20 

(c) Budget allocation involves series of tensions between actors with 
different backgrounds, orientations and interests and between 
short-term goals and long-term institutional requirements. Discuss. 15 

Q8. (a) f.iqR=ffuia '3<!J~{on Cf)) 'UIH'{ef4"> ~ ~ m f!$i1$Q\ fcf; ~ ~ BlkS=ilfl44"> 

1"1-il ftj~H ~ ~-u ~ ~' ~ Wr&1 Cf)), f.iqfclfuia ~ &ifu>41 efiT 
3ilC1~4Cfla13-1i ~ ~ cfi1" 3'!1C1~4Cfla13'!1 ~ m~ a1f!ilfl ~ .q ~ ~ : 

(i) ~ A~ ~ m ttW"IRaa1 -a ~ cnl'!ll<14 -ij 3lT(fT t ~ ~ ~ 
{itH<;tiJ ~ ~k4Rat -a Cfi«fT t ~ errm-a ~-~ ~ "ffirT t ~ 
~~cnfif'!!l -a~~~~~~ 3=!jf5f''41 q;{(ff t ~ ;r a1 ~ 
~ ~ m ~-~ ~ 3fu: ;r tf ~ ~ ~ ~ ~ mIBT ~ I ~ 
tft ~ ~ ~ ~ Ff> ~ ~ 3i(f;~q'1 -q f.RITTr ~ >Rftd ~ ~ I 

(ii) ~ B ~f(rill et>if~llcll it 1% C:&l >rtrrft t I ~ ~ filfl=iflll t 3:fR ~ ~ 
fmr ~ ~ t ~ &ffi ~ ~ ~ tft" ~ ~ I ~ m tft", ~ 
~~~~~;rrJ:{"C("{~m~~~t m~~~ 
l1R \ifRIT ~ I 

(iii) m. c ~~&TI it~ tITT -ITTm t ~ 'W ~ u ~ 3fu: ~mart~ 
~ ~ ~ ~ ~ t ~ ~ ~ -q -m ~ ~, ~ trt ~ ~ 
~ WffiT t I~~ fcffl ~ ~ Rifctlff!I ~ ~ erR -q 3ilqffi;qj 

"30RJT t d¢f ~ ~ m ~ ~; ~ ~ ~ ~ trt ~ "30m t Ff>~ 
SI ~I lfH ~ 3ltft" (fCf) ~ ~ cnl'!lCfl I ci ;r"@ ~ ~ I 

(iv) S!ft D ~ rn cf;T ~ (~) efiQltllMi ~ t11gfci~1;ft l 3fu: ~ 
q1;(qf{Cf) ~~3if ~ 't'\4ia<o1 it ~ ;iC!ltjlU ~ ~ ~ >rrH ~ ~ I 

~ ~ tft" ~ Cf){fil ~ ~ ~ ~ ct>l!tlctl en) ~ • ~ ~ 
~ ~ ~ ~ ~ FmIB ~ ~ ~ ~ ~ ~ ~ ~ ~ ~-~ 
~ ~ ~ {©1tRt cnl 3ilRsHeflll ~ ~ 2fr I 
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(b) trR ffiN1ll> ~ mm mct;R ~if imt sft ~ i:\lirdl~ Ag~r41 ~ ~ sft ~ 
"tfCffi mil .q ~ mcq Cl11 Rl1fur ~ 1:1\ ~ Cf){ uft ~ I ~ 30!R~<1a 13it 
3-fu 3"!Slflll~ld 3"fltj')ffi:tq:;a13i1 CfiT ~ cnG ~ ~' ~ -;fTfu f6i1<~1SJUI ~ m 
acf>fi,1a aq:;;:flCf>l q;-r 3"11~ ~ ~ ? 

(a) Read the following instances carefully and suggest what specific 
perspectives on organizational psychology of motivation would help the 
concerned organization to reconcile the needs of the following four 
persons with the needs of the organization : 30 

(i) Mr. A comes to his office with clocklike punctuality; does his work 
with impeccable honesty and integrity; takes order from above 
gladly; responds well to overtures by peers; but neither mixes with 
anyone himself nor seeks anyone's company. What is more, he 
seems quite happy in his isolation. 

(ii) Mr. B is an efficient charge-hand at the welding shop. He is very 
outgoing and makes friends fast, but falls out with them very fast 
too. He is, however, easily pacified when anyone asks him to calm 
down in the ·name of the organization. 

(iii) Dr. C is completely happy and abso.rbed when he is teaching in the 
classes, and does not at all mind when his workload gets heavier 
and covers new areas. But he gets angry when the finance section 
raises objections about his medical bills; and is furious that the 
higher administration is yet to give him full tenure. 

(iv) Mr. Dis a metallurgist in the forge shop of the steel plant, and has 
received honours for his innovativeness in modifying conventional 
alloys. He also paints well and values his painting skills far more 
than his mefiillurgy--and is extremely unhappytnat the company 
house journal did not finally carry his water sketch on its front 
cover. 

(b) Suppose the Government of India is thinking of constructing a dam in a 
mountain valley girded by forests and inhabited by ethnic communities. 
What rational techniques of policy analysis should it resort to for coping 

with likely uncertainties and unforeseen contingencies? 20 
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